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SECTION 1 - SECTION 1

Question No.1 (Question Id - 29)
‘P ACET IS TSR Thaaeed T Teld -
(A) O ®fumm
(B) O warm:
C€)O Fq: (Correct Answer)
D) O =4:

Question No.2 (Question Id - 45)
Find out the one word among the options which cannot be formed by using the letters of
the word as given in the question.

DOCTRINE :
(A) O CRUST (Correct Answer)

(B) O DOCTOR
(C) O TIRED
(D) O CREED

Question No.3 (Question Id - 12)
AT T AT T 38T HNTATUT FATHITIGIT TeedH - A, AR

B. et

(A) O Faei ATFas |

B) O aei B wege |

(C)O 33 A, B 7 @& | (Correct Answer)
D) O 33 A BT 3w+ |

Question No.4 (Question Id - 57)
In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

A mirror always :
(A) O refracts

(B) O distorts
(C) O distracts
(D) O reflects (Correct Answer)

Question No.5 (Question Id - 66)
Statement I:

An elephant cell has more DNA content than a mouse cell.

Statement II:




The DNA content per cell does not depend upon the size of an animal.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct but Statement Il is incorrect.

(D) O Statement |l is incorrect but Statement Il is correct. (Correct Answer)

Case Study - 6 to 10 (Question Id - 36)
In the following questions, select the right option on the basis passage given.

AARY Agdl AfFd: add| FAarq dresd eggedesdaraad AfFd =g Ty 3fRa, I9 adseqy
RICGEIEH FH I | AT A FhAT STofd dg 3aeaid FIeRETH TEUNTY | 7 I1ad I
AT draed d€d seoT 3110 Jerad! sfd A | mﬁwmmmmmw
yaAadT TaTeel fFd: srafd T, I A STORIAN g “sufedfd: TaudAT doiad T | eIy
3cTcd HAH: 3IAGcATd of IS ST UHHN o URaty du A Soeqor e
mﬁﬁmmaﬁ o 3Edrdd GAY: | Roqagared 9affg Aa: gsaeldl d Yia<r UaT | aod 3<0d

FeT: UF FAJSAON HROT TeUAETA:" | HAG: [978: HeIRAT he] AeFId 3t 3 H T dgeariet
WQWHH?ITUTETI HYFH AN HA: a:r&crﬁ'q’l—qﬁrﬁrﬁwum UReT: | dedall IF-HAry afasafa
AT T AFIHA ARTawIeT #Rsafy | 3 v 3o TR AT FPRICASATAY v e
o J APRICHBATAY |

Question No.6 (Question Id - 37)
7T 3 erege foh forgare 2

(A) O gfeeizams

B) O enfogem

(€)O AqHHTgH (Correct Answer)
(D) O 3xafargerH

Question No.7 (Question Id - 38)
HTEHA IS Hid dsederie Hied ?
(A) O 15 (Correct Answer)

(B) O 12
(C)O 14
(D)O 16

Question No.8 (Question Id - 39)
HTET fo1a18: 33T ] A ST HU HEg 3R 2
(A) O gresis:
(B) O dgearsex (Correct Answer)
(C)O sfiepsoren
(D) O RO,

Question No.9 (Question Id - 40)
HEATOT HITAT TTHRET TGO ?
A O Faeresr

I m—
©0 g

(D) © HAH: (Correct Answer)




Question No.10 (Question Id - 41)
AR AT ?ﬁl’ﬂ’lﬂﬂ@ﬂ”

A) O HHRICAHTAYAY (Correct Answer)
®) O Ry

€O enfeRfawRIy

D) O 3eATaTAy

Question No.11 (Question Id - 27)
T QreeTd TR I ATag ey &9 aeid -
(A O o
B) O ga:
©) O (Correct Answer)
D) O a7t

Question No.12 (Question Id - 21)
(A) O AT

B) O afeer

(C) O 3= (Correct Answer)
(D) O ;ﬂ'q{

Question No.13 (Question Id - 80)
The tissue that is responsible for buoyancy in aquatic plants is :

(A) O chlorenchyma
(B) O chollenchyma
(C) O airenchyma (Correct Answer)
(D) O sclerenchyma

Question No.14 (Question Id - 33)
Jrenfaf@ay g arerg e -

A) O aea s7fe |

®) O sy o |
(€O % AATT | (Correct Answer)
DO swori =y |

Question No.15 (Question Id - 20)
‘St 3far ug srenfaf@ay & fasuegd ?
A) O Fa+ dd (Correct Answer)
(B) O SfeT +3T
(©) O 3+ e

(D)O s+ a

Question No.16 (Question Id - 85)
Anther contains :

(A) O sepals
(B) O ovules
(C) O carpels
(D) O pollen grains (Correct Answer)

Question No.17 (Question Id - 50)
In the following question, select the right option which indicates the correct relationship




as given in the example.

Example — Mount Everest : Nepal
(A) O Mexico : South America

(B) O Argentina - North America
(C) O Big Ben : Russia
(D) O Ahmedabad : Gujarat (Correct Answer)

Question No.18 (Question Id - 28)
ST AT ‘SIS ASEEFYT Fciet -
(A) O orar, weharera

(B) O geaeht, waraaeiat (Correct Answer)
(©) O vorar, sgaaes
(D) O gege, AEEEGE|

Question No.19 (Question Id - 46)

If 215t November falls five days before Wednesday, then what will be the day on 25t
December ?

(A) O Wednesday

(B) O Sunday

(C) O Friday

(D) O Thursday (Correct Answer)

Question No.20 (Question Id - 51)

In the following question, select the number(s) from the given options for completing the
given series.

1,6,12,19,27,?

(A) O 38

(B) O 36 (Correct Answer)
(C)O 35

(D) O 34

Question No.21 (Question Id - 72)
Tridosh in Ayurveda is based on which of the following ?
(A) O Vata, Pitta, Kapha (Correct Answer)

(B) O Dhatu, Pitta, Kapha
(C) O Sattva, Rajas, Tamas
(D) O Cholesterol, Blood pressure, Sugar

Question No.22 (Question Id - 86)
A ray of light after refraction through a prism :
(A) O bends away from its base

(B) O bends towards its base (Correct Answer)
(C) O moves parallel to its base
(D) O gets reflected back to the source

Question No.23 (Question Id - 10)
TSYIASIH, S h: HATH: ?
(A) O zfereamer
(B) O srearfisrawama: (Correct Answer)
(©) O agregwara:
0) O agdifewem:




Question No.24 (Question Id - 74)
The synthesis of DNA mostly takes place during :
(A) O Interphase (Correct Answer)

(B) O Metaphase
(C) O Anaphase
(D) O Telophase

Question No.25 (Question Id - 9)
e gcuT &F: A ?

(A) O GdeaddHATH: (Correct Answer)
B) O srexehsmrawara:
©) O wremagsra:
0O agdfewme:

Question No.26 (Question Id - 55)
In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Cub

(B) O Chicken (Correct Answer)
(C) O Pig

(D) © Lamb

Question No.27 (Question Id - 23)

A) O deasr:, YYAYEY:, fdaeaT# (Correct Answer)
(B) O fycar:, TR, EfdaHe

©) O wzomr:, JAHEY:, G

OO faftfogerr:, s, gt

Question No.28 (Question Id - 58)
In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

| am walking towards North. | will see the Sun :
(A) O rising on my left

(B) O setting on my right

(C) O rising on my right (Correct Answer)
(D) O infront of me

Question No.29 (Question Id - 18)
TSCAT 3T Tl add -
(A) O &t

(B) O cdrl
©)O wear (Correct Answer)
OO g

Question No.30 (Question Id - 97)
Which of the following are physical changes ?

A. melting of iron metal

B. rusting of iron




C. bending of iron rod
D. drawing a wire of iron metal

Choose the correct answer from the options given below :

(A) O A,B,C
B)O AB,D
(C) O A, C, D (Correct Answer)
(D)O B,C,D

Question No.31 (Question Id - 60)
In the following question, select the best option as answer to the given statement.

A figure is considered as circle when :
(A) O itis divided into four equal parts.

(B) O it has two right angles.
(C) O it has alarge area.
(D) O it has no angles. (Correct Answer)

Question No.32 (Question Id - 82)

Match List - | with List - 11 :

List - | List - 11
A. Tuberculosis I. Water borne disease
B. Cholera ll. Bite of culex mosquito
C. Japanese encephalitis |lll. Air borne disease
D. Rabies IV. Bites of infected animals

Choose the correct answer from the options given below :

(A)O A-ILB-IlIl,C-1V,D-1I
B)O A-I,B-IIl,C-1V,D-I
C)O A-IV,B-I,C-1l,D-1l
(D)O A-lI,B-1,C-Il,D-IV (Correct Answer)

Question No.33 (Question Id - 76)
Which part of the plant gives rise to haploid plants in tissue culture ?

(A) O Endosperm

(B) O Leaftip

(C) O Root tips

(D) O Pollen grains (Correct Answer)

Question No.34 (Question Id - 4)
A + T 3T Aiee $% -

(A) O doeld:

B) O ge: (Correct Answer)
€O dceld:

D) O gaex

Question No.35 (Question Id - 44)
Find out the one word among the options which cannot be formed by using the letters of
the word as given in the question.

JUDICIARY :




(A) O INJURY (Correct Answer)
(B) O CADDY

(C) O DICY

(D) © ACRID

Question No.36 (Question Id - 99)
Which of the following correctly represents 360 g of water ?

A. 2mol g H,O
B. 20 mol g H,O
C. 6.022 x 1023 molecules of H,O

D. 1.2044 x 1025 molecules of H,0

Choose the correct answer from the options given below :

(A) O Aonly

(B) O AandD only

(C) O BandC only

(D) O B and D only (Correct Answer)

Question No.37 (Question Id - 70)
The science of surgery in ancient India was developed by :
(A) O Panini
(B) O Susruta (Correct Answer)
(C) O Aryabhatta
(D) O Patanjali

Question No.38 (Question Id - 78)
Organelle without cell membrane is :
(A) O Ribosome (Correct Answer)

(B) O Golgi Apparatus
(C) O Chloroplast
(D) O Nucleus

Question No.39 (Question Id - 16)
TR 3T U TR 3ot FrorezY 2
(A) O ¥ +9gd (Correct Answer)

(B) O g+ug
©) O z+aa
DO &+ Ul

Question No.40 (Question Id - 26)

FafeRad difcreed EHT GHAETATYR SHHifaRady S| 3w e -

aTfereT - 1 aifereT - 2
A Ofg . TIETDIR:

B. G6TH Il JSABR:

c. aggd 1. AR aeR:
D. digd IV, TICADR:

(A)O A-IV,B-Ill,C-Il,D -1 (Correct Answer)
B)O A-I,B-1I,C-1I,D-1V




(CYO A-IV,B-1,C-1ll,D-II
D)YO A-1,B-1I,C-1IIl,D-IV

Question No.41 (Question Id - 11)
UATSE” ST FHATAUCEL ﬁ?}?;ﬁ-

(A) O ot 3reeTeT GHARR:

(B) O sraear sregrsii GATER: (Correct Answer)
(©) O erarq sreemeT THER:
D) O e 3rear1 THER:

Question No.42 (Question Id - 101)
The chemical responsible for the destruction of ozone is :
(A) O Methane

(B) O Chlorofluorohydrocarbons (Correct Answer)
(C) O Hydrofluorocarbons
(D) © Compressed natural gas

Question No.43 (Question Id - 1)
(B) O v+ 3H (Correct Answer)
©)O 3y + 3mm
OO %+ 3pm

Question No.44 (Question Id - 56)

In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Cone (Correct Answer)
(B) O Circle

(C) O Triangle

(D) O Square

Question No.45 (Question Id - 32)
‘FrereT: AR 3 ITFTET Argarey gRafdd 9 add -
A) O qre: 9 |
(B) O arerd: erzaa | (Correct Answer)
©) O grom: = |
D) O grora: raed |

Question No.46 (Question Id - 100)
Isotopes of an element have :
(A) O the same physical properties
(B) O different chemical properties
(C) O different numbers of neutrons (Correct Answer)
(D) O different atomic number

Question No.47 (Question Id - 79)
Fats are stored in human body as cuboidal epithelium :
(A) O Cuboidal epithelium

(B) O Adipose tissue (Correct Answer)
(C) O Bones
(D) O Cartilage




Question No.48 (Question Id - 8)
VTR ScaET THETICEY faarg % -
A) O yeee 3mar:

(B) O garg smamd: (Correct Answer)
©)O garrr 3mar:
D) O yefror 31

Question No.49 (Question Id - 64)
Which of the following brings pure blood to the heart ?
(A) O Pulmonary artery

(B) O Pulmonary vein (Correct Answer)
(C) O Coronary artery
(D) O Coronary vein

Question No.50 (Question Id - 94)
Which of the following are not ionic compounds ?

A. KCI
B. HCI
C. CCly

D. NaCl

Choose the correct answer from the options given below :

(A) O Aand B
(B) O B and C (Correct Answer)
(C)O CandD
(D) O AandD

Question No.51 (Question Id - 35)
AR <g arrt 3 -
(A) O #HEg g9 e |

D) O ge=r g = | (Correct Answer)

Question No.52 (Question Id - 84)

A basket of vegetables contains carrot, potato, radish and tomato. Which of the item
represents the correct homologous structures ?

(A) O Carrot and potato
(B) O Carrot and tomato
(C) O Radish and carrot (Correct Answer)
(D) O Radish and potato

Question No.53 (Question Id - 34)
FNRRAY e AT oI -

(A) O gdfg AR | (Correct Answer)
(B) O gdfor ey |

©) O w faafa |
D) O e faaifa |

Question No.54 (Question Id - 61)
In the following question, select the best option as answer to the given statement.




In summer, people wear light coloured clothes because :
(A) O they want to look smart.

(B) O light colours reflect excess heat. (Correct Answer)
(C) O dark coloured clothes are not available.
(D) O the sun rays cannot tan the skin.

Question No.55 (Question Id - 5)
ATEHA + 3 ST T8 F:% -

(A) O gfeaf=afa (Correct Answer)
B) O g=afafy

©C) O germafy

(D) O gfernfa

Question No.56 (Question Id - 17)
(A) O uIq

() O g

€O oY (Correct Answer)
D) O gy

Question No.57 (Question Id - 68)
Nuclear membrane is absent in :
(A) O Neurons

(B) O Penicillin sp.
(C) O Escherichia coli (Correct Answer)
(D) O Plant guard cells

Question No.58 (Question Id - 49)

In the following question, select the right option which indicates the correct relationship
as given in the example.

Example — Injury : Pain

(A) O Grades : Merit

(B) O Thunder : Lightening (Correct Answer)
(C) O Rotate : Churning

(D) O Matter : Labour

Question No.59 (Question Id - 7)

dTfereT - 1 drferet - 2
A B +38 . BRE
B. Bl + 3§ Il B1%%
C&ll+38 . 8038
D. B3 + 38 V. gXIdg

(A)O A-IV,B-1,C-1II,D-1Il
(B)O A-II,B-1,C-IIl, D - IV (Correct Answer)
(CYO A-IV,B-1,C-1ll,D-II
D)YO A-1,B-1I,C-1IIl,D-IV




Question No.60 (Question Id - 83)
A few drops of iodine solution were added to rice water, the solution turned blue-black in
colour. This indicates that rice water contains :

(A) O Complex proteins

(B) O Starch (Correct Answer)
(C) O Fats

(D) O DNA

Question No.61 (Question Id - 67)
Which of the following is a plant hormone ?
(A) O Cytokinin (Correct Answer)

(B) O Estrogen
(C) O Insulin
(D) O Renin

Question No.62 (Question Id - 43)

In the following questions, select the right option which indicates the correct code for the
word and letter given in the question.

If MUSK is coded as 146816; then ZERO will be coded as :
(A) O 113811

(B) O 122912 (Correct Answer)
(C) O 15915
(D) O 2651815

Question No.63 (Question Id - 65)

Match List | with List II.

List - | List - 11
A. Bacteria l. Malaria
B. Virus Il. Dandruff
C. Protozoa lll. Pneumonia
0. Fungus V. Measles

Choose the correct answer from the options given below :

(A) O A-1IILB-1,C-1I,D-IV
(B) O A-lIl,B-1V,C-1,D -l (Correct Answer)
(C)O A-1,B-1I,C-IV,D-Il
(D)O A-IV,B-1,C-1I,D-III

Question No.64 (Question Id - 25)
A) O seasrer

(B) O @teasRex (Correct Answer)
©) O Rffgasres

D) O sgomreg

Question No.65 (Question Id - 14)
IS 57 &: AW: ?

(A) O dcIeYHATH: (Correct Answer)
B) O sreafremagara:
(©) O garegmm:




(D) O a’ga’l‘f%ﬂ?q’m:

Question No.66 (Question Id - 90)

If a displacement of an object is proportional to the square of time, then the object
moves with

(A) O uniform velocity

(B) O uniform acceleration (Correct Answer)
(C) O increasing acceleration

(D) O decreasing acceleration

Question No.67 (Question Id - 53)

In the following question, select the number(s) from the given options for completing the
given series.

27, 28, 25, 25, 23,22,21, ?
(A) O 20
(B)O 21
(C) O 19 (Correct Answer)
D)O 18

Question No.68 (Question Id - 89)
The unit of power is :
(A) O Watt per second

(B) O Joule
(C) O Kilo joule
(D) O Watt (Correct Answer)

Question No.69 (Question Id - 95)
A molecule of ammonia (NH3) has :

(A) O only single bonds (Correct Answer)
(B) O only double bonds

(C) O only triple bonds

(D) O 2 double bonds and 1 single bonds

Question No.70 (Question Id - 59)

In each of the questions given below, there are four options. Find out the one that is
correct in verification of the given statement.

What is always associated with a tree ?
(A) O Roots (Correct Answer)

(B) O Branches
(C) O Flowers
(D) O Leaves

Question No.71 (Question Id - 96)
The chemical formula of baking soda is :
(A) O NacCl
(B) O CacCl,

(C) O NaOH
(D) O NaHCOj (Correct Answer)

Question No.72 (Question Id - 93)
Before playing the orchestra in a musical concert, a sitarist tries to adjust the tension and
pluck the string suitably. By doing so, he is adjusting

(A) O intensity of the sound only
(B) O amplitude of the sound only
O




(C) frequency of the sitar string with the frequency of other musical
instruments

(Correct Answer)
(D) O loudness of the sound

Question No.73 (Question Id - 48)

In the following question, select the right option which indicates the correct relationship
as given in the example.

Example — Shoot is to Gun as Eat is to.....
(A) O Hunger

(B) O Thirst

(C) O Dinner

(D) O Fruit (Correct Answer)

Question No.74 (Question Id - 75)

Match List - 1 with List - 11 :

List - | List - 11
A. Neutrophils I. Produces antibiotics
B. Erythrocytes Il. Engulfs bacteria
C. lymphocytes lll. Releases chemicals
D. Thrombocytes IV. Carries oxygen

Choose the correct answer from the options given below :

A O A-ILB-1I,C-1I,D-1V
B)O A-l,B-I,C-1I,D-IV
(©)O A-I,B-1IV,C-1,D-lll (Correct Answer)
D)O A-IV,B-1,C-1I,D-1l

Question No.75 (Question Id - 73)
Which of the following ancient Sanskrit text has principles of Ayurveda and practices ?

(A) O Samaveda

(B) O Atharvaveda (Correct Answer)
(C) O Yajurveda

(D) O Rigveda (Correct Answer)

Question No.76 (Question Id - 54)

In each of the following question; three words are alike in some manner. Spot the odd
one out.

(A) O Nose

(B) O Eye

(C) O Tongue

(D) O Teeth (Correct Answer)

Question No.77 (Question Id - 31)
T G qofl’ 3T AT saared aRafdd ®9 add -
(A) O e qechifer gazwd |
(B) O == qEcieh T&Ted |
©) O car g Towd |




(D) O AT 9FA% gaad | (Correct Answer)

Question No.78 (Question Id - 22)
H‘Zﬂﬁl‘f@ﬁgmdﬁz erec: AJAcITTec: oF Jdd -
A) O sreoedr
(B) O T3

(C)O TSd

D) O T&e1H (Correct Answer)

Question No.79 (Question Id - 62)
Given below are two statements :

Statement I:

In a monohybrid Mendelian Cross, the phenotypic ratio in F2 generation will be 3 : 1.
Statement Il:

In a monohybrid Mendelian Cross, the genotypic ratio in F2 generation will be 1 : 1.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct but Statement Il is incorrect. (Correct Answer)
(D) O Statement | is incorrect but Statement Il is correct.

Question No.80 (Question Id - 30)
A ACET FaaTee! Tehadlel e &Y Teid -
A) O s (Correct Answer)

B) O #=
©) O amy

(D)O AraiX

Question No.81 (Question Id - 3)
FA + 3 3T AieHl $% -

(A) Ozt 27 (Correct Answer)
B) O #ie

©) O mE

D) O afysg

Question No.82 (Question Id - 2)
S + 3T S Tl % -
() O argater
(B) O argarer:
(€O argatter
(D) O argetta: (Correct Answer)

Question No.83 (Question Id - 47)
If in a clock the number from 1-12 are replaced with alphabets starting from F; then
which of the following options shall indicate time as 9 o’ clock ?

(A) O M-P
B)O QN




(C)O P-N
(D) O N-Q (Correct Answer)

Question No.84 (Question Id - 92)
In the SONAR technology, we use :
(A) O radiowaves

(B) O infrasonic waves
(C) O ultrasonic waves (Correct Answer)
(D) O audible sound waves

Question No.85 (Question Id - 71)
Which of the following organelle is present only in plants ?
(A) O nucleus

(B) O mitochondria
(C) O liposomes
(D) O cell wall (Correct Answer)

Question No.86 (Question Id - 98)
On converting 25°C, 38°C and 66°C to Kelvin scale, the correct sequence of
temperature will be :

(A) O 298 K, 311 K, 339 K (Correct Answer)
(B) O 298K, 300K, 338 K
(C) O 273K,278K, 543 K
(D) O 295K, 310K, 338K

Question No.87 (Question Id - 81)
Which among the following have open circulatory system ?

A. Arthropoda
B. Mollusca

C. Annelida

D. Coelenterata

Choose the correct answer from the options given below :

(A) O Aand B Only (Correct Answer)
(B) O CandD Only
(C) O AandC Only
(D) © BandD Only

Question No.88 (Question Id - 91)
The atmosphere is held on the earth by :
(A) O gravity (Correct Answer)

(B) O wind
(C) O clouds
(D) O earth’s magnetic field

Question No.89 (Question Id - 13)
STAlcTeld e & AN ?

(A) O saterawa: (Correct Answer)
B) O sremfroragare:

) O CarCa A

D) O CREULRIEE

Question No.90 (Question Id - 15)
U + FI’ ScTeleT [oTSeal Ug, deie] -
A) O gaa: (Correct Answer)




(B) O Yad:
©) O ofaa:
D) O uifa:

Question No.91 (Question Id - 88)
Who discovered thermionic emission for the first time ?
(A) O Thomas Alva Edison (Correct Answer)

(B) O J.J. Thomson
(C) © John Fleming
(D) O Michael Faraday

Question No.92 (Question Id - 69)
Most of the active components in Ayurvedic formulations are :
(A) O Plant primary metabolites

(B) O Plant secondary metabolites (Correct Answer)
(C) O Plant lipids
(D) O Plant enzymes

Question No.93 (Question Id - 52)

In the following question, select the number(s) from the given options for completing the
given series.

80, 64, 48, 32, 16, ?

(A)O 4

(B) O 0 (Correct Answer)
O 8

(D)O 1

Question No.94 (Question Id - 42)

In the following questions, select the right option which indicates the correct code for the
word and letter given in the question.

If CHAIR is coded as FKDLU; then RAID will be coded as :
(A) O ULGD

(B) O ULKG

(C) O ULDG

(D) O UDLG (Correct Answer)

Question No.95 (Question Id - 19)

FafeRad difceed FEHT GHRAHTATYR HfaRady T 3w fd -

aifeaer-1 | afeer-2
A, HIHM: . Fdaq
B. TUEH I Aqq
C. ufddar 1. =
D. fHa: V. &

(A)O A-lILB-Il,C-1,D-IV (Correct Answer)
B)O A-I,B-1I,C-1I,D-1V
C)O A-IV,B-I,C-1I,D-1i
D)O A-ILB-Il,C-lI,D-1IV

Question No.96 (Question Id - 77)




The Scientist who proposed the theory of natural selection
was :

(A) O Gregor Mendel

(B) O Robert Hooke

(C) O M.S. Swaminathan

(D) O Charles Darwin (Correct Answer)

Question No.97 (Question Id - 6)
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(A) O A-IV,B-1,C -1, D -Ill (Correct Answer)
B)O A-1,B-III,C-1I,D-IV
(CYO A-IV,B-1,C-1ll,D-II
D)YO A-1,B-1I,C-1IIl,D-IV

Question No.98 (Question Id - 24)
TH AT FEADNET TAHTEET Uhadeled &Y deid -
A) O Freafy
B) O afacafa
(€©) O Fxafa (Correct Answer)
D) O Feafy

Question No.99 (Question Id - 87)

The instrument which is used to measure the magnitude of current flowing through a
circuit is called :

(A) O voltmeter

(B) O galvanometer

(C) O ammeter (Correct Answer)
(D) O barometer

Question No.100 (Question Id - 63)

The process of photosynthesis involves the reaction,
COy + Hy,O — Glucose + + Water

The missing component of this reaction is :

(A) O CO

(B) O Hy

(C) © HCHO

(D) O O, (Correct Answer)




